m B OBl Bk S IE R

(B5)
ne & B ME(Ke) |HEO) FH| & 8 |HE(0) [FHEE
1 * ¥ ~ V 1,224, 483 325 1 134, 369, 608 19.2 110
2 = A Z ~ 365, 430 9.7 4 39, 254, 255 5.6 107
3 1= F el F 333,014 8.8 171 33, 323, 159 4.8 100
4 |+ ~ I~ 216, 397 5.7 2 715, 980, 492 10.9 351
5 & W 3 Y 196, 635 5.2 3 40, 665, 254 5.8 207
6 [ < S Ly 185, 142 4.9 16 10, 816, 365 1.5 58
7T /F n W L & 131, 813 3.5 12 15, 277, 563 2.2 116
8 Iz ~ C ~ 118,574 3.2 13 14,887, 309 2.1 126
9 | i El 117,121 3.1, 6 34,661,816 5.0 296
10 =4 96, 951 2.6 10 20, 963, 355 3.0 216
1m v 3 A 84, 701 2.3 11 18, 550, 288 2.7 219
12 | » ~ L & 19,150 2.1 11 10, 725, 654 1.5 136
¥l = b~ % F 62, 053 1.6 5 35, 311, 422 5.0 569
14 E — v 61,940 1.6 8 23, 341, 292 3.3 371
15 | » (F 5 42,411 1.1 21 1,522, 494 1.1 177
16 | A A 30, 265 0.8 32 3,782,093 0.5 125
17 | I< 5 30, 242 0.8 20 1,583, 609 1.1 251
18 | = £ P) 28, 609 0.8 22 1,243,735 1.0 253
wliE 5 h A £ 5 21,765 0.7 14 13, 604, 642 1.9 490
20 - F 2 LAY 24, 480 0.7 24 5, 740, 355 0.8 234
21 | L o) C 24,318 0.6 19 9,588,518 1.4 394
2 2 o T E IF 24, 286 0.6 29 4,500, 371 0.6 185
2|7 R N T H R 23,325 0.6/ 9 21, 305, 357 3.0 913
24 1 L W = It 16, 321 0.4 15 11,144, 647 1.6 683
25 |7 By a3 — 16, 187 0.4] 30 4,413, 437 0.6 273
26 s & 3 3 15,733 0.4] 33 3, 635, 856 0.5 231
21 L & 5 M B 15,731 0.4 18 9, 780, 930 1.4 622
28 I & A t 14,239 0.4 34 3,190, 754 0.5 224
29 | & ) A t 14,130 0.4 25 5,219,714 0.7 369
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o % B HE(Kg) [LE(%) 22 | (%) TRH
0| Friyt o vHy A 13,524 0.4 36 2,814,530 0.4 208
31 | & )2 ) — 12,707 0.3 28 4,735, 221 0.7 373
32 | A s 9,979 0.3 38 2,408, 183 0.3 241
33 | IZ A = < 9,404 0.2 23 6,214, 335 0.9 661
34 |1 o) l 7,309 0.2 45 . 672,282 0.2 229
3% |3 < 5,710 0.2 43 . 962, 338 0.3 344
36 | b [+ F 9,925 0.1} 39 2,358, 838 0.3 427
3| » 2 A E S 5,374 0.1 27 5,044,871 0.7 939
¥ |lE 53 v 5 2 L 9,100 4 2,150, 925 0.3 422
39 |&# o &F H 9,023 0.1 47 . 495, 517 0.2 298
40 | A = A 4,591 0.1 37 2,505, 962 0.4 546
41 | F 7 z 3,656 0.1 35 2,936, 220 0.4 803
42 | E3] H X 3,157 0.1] 49 , 088, 040 0.2 345
43 | » L h  h 3,000 0.1 52 822, 864 0.1 274
44 | 1= + @ - 2,954 0.1 53 193, 695 0.1 269
4 | £ ) x 9] 2,923 0.1 44 , 858, 060 0.3 636
46 |H UV T F T — 2,828 0.1 59 535, 690 0.1 189
47 | F L = [+ 2,673 0.1 48 . 371, 566 0.2 013
48 | KX = 2,263 0.1 26 9, 178, 355 0.7, 2,288
49 | # &£ 3 ) 2,056 0.1 31 4,035, 206 0.6 1,963
50 | /X t ) 2,048 0.1 40 2,291,679 0.3 1,119
o1 WA (F A 1,864 0.0 42 2,020, 443 0.3] 1,084
2 A & S5 & W 1,835 0.0 60 519,913 0.1 283
BT ¥ x L v b 1, 801 0.0 46 , 946, 652 0.2 859
o4 | L < 1,678 0.0 50 . 063, 588 0.2 634
5% | b o & 3 1,328 0.0 61 486, 623 0.1 366
o6 | )N AR 1,230 0.0 54 113,708 0.1 280
ol | 2 [+ Ay 1,194 0.0 57 657, 458 0.1 951
58 | 5 ) 952 0.0 56 672, 420 0.1 106
99 | D F H X 893 0.0 70 175, 140 0.0 196




(%)

o % B WE(Kg) |HEO) FH| & #E  |HE () [FHRE
60 |7 v b+~ BH = 888 0.0 66 297,712 0.0 335
61 | H 7 5 LAY 878 0.0 62 447,571 0.1 510
62 I A Iz < 829 0.0 67 296, 266 0.0 357
63 LL&ESADBL 234 0.0] 51 1,000, 979 0.1} 1,874
64 | 1L ES | 396 0.0 64 360, 155 0.1 909
65 | E A 322 0.0 65 321, 265 0.0 1,016
66 | % 1= ES o) 263 0.0 63 377,095 0.1 1,434
67 | & 3 235 0.0 55 713,160 0.1 3,035
68 | /N - J #& 185 0.0 58 641,915 0.1 3,470
69 £ A A~ 4 ¥ 179 0.0 N 166, 751 0.0 932
0|3y val—A~4 154 0.0 69 202, 903 0.0 1,318
n s =) (6} 110 0.0 78 37,949 0.0 345
2 | & Y 102 0.0 76 67,969 0.0 666
3 | % 1€ =3 74 0.0 77 48, 720 0.0 658
| L z 67 0.0 68 215, 876 0.0 3,222
B | & & 2 = 66 0.0] 79 28, 644 0.0 434
76 | @ El | 37 0.0/ 72 127,995 0.0] 3,459
& A ® 26 0.0/ 74 74,813 0.0 22877
8 | = ) D * 15 0.0 75 12,351 0.0] 4,824
9 | H & (63 1" 0.0 73 86, 051 0.0 7,823
80 | & 5 M B L 3 0.0 80 0,618 0.0 1,873
1 TOMEEXRSE 4,053 0.1} 1 1,369, 083 0.2 338
2 | o R X & 2,643 0.1 3 1,138,034 0.2 431
3 TofhEDRE 2,156 0.1 4 959, 281 0.1 445
4 |2 ot £ ¥ #E 2,006 0.1 5 019, 593 0.1 259
5 ZTDMEFOFIYE on 0.0 2 1,274,810 0.2 1,313
6 | &£ o M F X 280 0.0/ 6 255, 908 0.0 914
T | o # R X & 181 0.0 7 117, 860 0.0 651

3 x & 3,763,695 | 100.0 699,747,037 | 100.0 186
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(R=)

He

ot

e & F WE(Ke) [HEO) TH| & @ |LE(0) [FHE
[ L m 623, 367 329 1 163, 718, 575 26.5 263
2 | NN + + 365, 279 19.3] 5 48, 480, 645 1.9 133
3 | A A v B 178, 410 9.4 3 83, 084, 204 13.5 466
4 Yy A CZ &t 134, 730 1.1 4 57, 140, 445 9.3 424
5 |1 B C B 127,573 6.7 2 96, 191,376 15.6 154
6 JL—=7I)L—-v 63, 648 3.4 1 9,818,992 1.6 154
1T | B H L] 50, 950 2.7 8 8,234, 048 1.3 162
8 NLOTHLYD 28,121 1.5 9 6,787,937 1.1 241
9 nNA 7y T 23,716 1.3 12 4,020, 247 0.7 169
10 |#&# » A Bl 17,380 0.9/ 6 21,510,678 3.5 1,238
1M | v a= v 12, 259 0.6 14 2,471,314 0.4 202
12| #9249 21L—-Y 8,118 0.4 11 4,680, 415 0.8 5717
B A &£ > &t 6, 231 0.3] 13 3, 739, 524 0.6 600
14| & 3 & 3 2,571 0.1 10 6,573, 2471 1.1 2,557
15 | & e) I < 1,920 0.1 16 793, 086 0.1 413
16 % b B 118 0.0 15 1,395, 870 0.2] 1,944
17 | v Cp) 219 0.0 17 530, 460 0.1} 1,901
18 | W 5 5 < 10 0.0 18 117, 600 0.0] 1,680
1 | o fth # & %8 237, 283 125 1 90, 451, 100 14.7 381
2 ZDMEEEAFRE 8,121 0.4 2 6,534,077 1.1 804
3| o O R = 1,256 0.1 3 876, 382 0.1 698
4 ZTOMBRRL £S5 RE 28 0.0 4 40, 047 0.0 1,430

e = &t 1,892,100 | 100.0 617,196,269 | 100.0 326
(RIR. MT &)

i i Z WE(Ke) [HEO) ZH| & @ |LE(0) [FHE
T 13 *° L 29, 528 41.2) 2 3,081,510 17.5 104
2 5 R H 21, 381 29.8| 1 4,754, 592 27.1 222
3 |2 A Iz » ( 2,439 3.4/ 5 604, 181 3.4 248
4 | I+ 3 o &t 2,193 3.1 3 1,135, 180 6.5 518
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(BEE, MI&)

Gl

i % B WE(Kg) |HEO) FH| & #E  |HE () [FHRE
J =IO mIm 1,136 1.6 6 378,938 2.2 334
6 # ® X = 937 1.3 4 702, 113 4.0 749
1 3 e & 3 929 0.7, 1 3317, 855 1.9 639
8 |¥1 F £ W 2 A 93 0.1] 8 137,760 0.8 1,481
9 | X =2 -3 58 0.1 10 64, 995 0.4\ 1,121
0|+ L w = & 33 0.0/ 9 97, 430 0.6 2,952
nmin™» A £ 5 v 3 8 0.0 M 13,020 0.1} 1,628
1 Z 0O fhn T ¥ X 1,321 0.2 1 3,371, 404 19.2 461
2 ZTOfmIRE 3,376 4.7, 3 993, 836 2.1 294
3 | O ft M T & 2,199 3.1 2 1,480, 514 8.4 673
4 T OfhEEEX 419 0.6 4 309, 523 1.8 139
9 T OMEBRRR 106 0.1 5 100, 307 0.6 946

SR, MI&S 71,756 | 100.0 17,563,158 | 100.0 245
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